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z Bib AN R ;ﬁ s
1 59 A fMFE aF= 15.600
2 55 HE fA aF= 15.400
3 41 R\ KE IEXRZE K= 15.200
4 56 HANEE IEXRZ K= * 15.150
4 71 Bk BE M= AIRY77 * 15.150
6 40 fAA BARAKBERE 15.100
7 54 EHiE A4 EURSILAKR—Y * 14.900
7 AT UK HE RN ARIRY77 * 14.900
7 19 RANBE BAREFEKRE * 14.900
10 SH Bz ar = * 14.850
10 60 H {Has oy * 14.850
12 70 €A — BARAKBRE * 14.800
12 72 [E #FE BAREFEKRZE * 14.800
12 68 &8 #%— RN RIRY77 * 14.800
15 67 ##0 & aF= 14.750
16 69 & FEE BEHTIEEHESEER 14.700
17 10 S# BA IEXRZ K= 14.650
18 26 lLiF 2 SR4E® 14.500
19 50 H# Hith BAREKFEKRZE * 14.350
19 L5 HRiE IEXR=Z K= * 14.350
19 7 Hh EA HIFAEREIST * 14.350
19 6 #&LL B2 BARAKBRE * 14.350
19 44 UK H{— NSRS * 14.350
24 22 HF K#h *l]—:klll BRIEHE 14.300
25 52 H0O iREt EM=AIRY77 * 14.250
25 42 ¥ LA =N * 14.250
25 2 TH &KX HIFAEREIST * 14.250
25 51 /v Bfth aF= * 14.250
29 62 K% itth BAXE * 14.200
29 43 iEN R RS AR— * 14.200
31 3 XJIl #F iLeXZE * 14.150
31 14 FEEX BRSEFER * 14.150
33 45 B/HE= BiIFREEFER * 14.100
33 30FAHA =N * 14.100
35 48 [+ EE NSRS * 14.050
35 61 &JI i MET I REESEFER * 14.050
35 35 2% Hit RRKE * 14.050
35 20 & BEXK BiAXRAKIRYIST * 14.050
35 38 IUE fFE oy * 14.050
35 11 Bi& =/ Mgy >7 * 14.050
Data processing by SEIKO Page: 1/2



(235] ELRRRHEZXS-F—FEHE

[#AR) FEH26E5898~11H

Print Time: 2014/05/09 20:03

sE68[m < H A4 iRME A%AE$E EBRAERFHENSATIL

B8F P& EHIER

]

z Bib AN R ;ﬁ s
41 64 /MU CE BEABXRE * 14.000
41 66 E RF BfREXE * 14.000
41 39 hnik EF IEXRZE K= * 14.000
44 18 B FF FIRKFE 13.950
45 31 FE Mz NSRS 13.900
46 46 #EBE gE= fEM=ARY77 13.850
47 271 B BE REEEKE * 13.800
47 36 RIEF EA MEmIIMmEEEER * 13.800
47 63 R &R BAREFEKRZE * 13.800
50 28 /M\E &H# BERSEFER 13.750
51 23 iFEEHh X EiR4dW * 13.700
51 25 3MA &Eth X BEAESEER * 13.700
51 33HFHER BAREFEKRZE * 13.700
54 49 £F f#= IEXR=Z K= 13.650
55 34 mEHESE X BISEER 13.500
56 29 HAaEE =N 13.450
57 13 #E)Il #X MFUBRTHD I ESHFER 13.300
58 8 #i R A RERE 13.250
59 37 BiR mA IEXRZ K= 13.050
60 57 /NR ZZ =N 13.000
61 121%EE HIFAEREIST 12.850
62 4 EMH =4 HiFARigs>7 * 12.800
62 65 B3 BAER -y * 12.800
64 15 RIB & MiFARigs>7 12.650
65 24 BB Kith e LR S FE R 12.350
66 17 Hi&E = P ﬁm,l.a%ﬂx * 12.300
66 58 @Il HF M= AIRY77 * 12.300
68 9 L)1l HEHR BERSEFER * 12.150
68 32 A& fEAER iLeXZE * 12.150
70 1 HE Bw% HiFARgs>7 10.900
71 21 BB —X% PREFFER
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